| agree that a means test is required on the solar rebate. We had enough middle class
welfare under the previous government. But the $100 000 maximum income is too
low. | believe adliding scale should be utilised. Eg - For every $10 000 income over
the $100 000 threshold the rebate should be reduced by $1000.

The solar rebate provides incentive for public engagement. The presence of solar
panels on suburban roofs will increase the public awareness of renewable energy and
probably even other aspects of climate change prevention such as energy efficiency.

Yourssincerely,
Paul Gjeko
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